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(b) XYZ is planning an expahsion programme which will require 30 lakhs and can be funded

through one of the following options : |
h ()  Issue of f(esh equity shares of ¥ 100 each at par
(#) Raising of 15% loan

- (i) Issue of 12% preference shares.

"The present equity share capital of the company is ¥ 60 lakhs and the annual
EBIT is 12 lakhs. Tax rate is 40%. After the expansion, the EBIT is expected to

be ¥ 18 lakhs.
Calculate :
() The EPS under all the three {inancing plans. Which plan should be selected ?

(i) Determine. the indifference point between the equity share capital plan and’ o

debt plan. ' : . 9
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. XYZ Ltd, has the following (':;apital structure :

@

iy

(i)

(i)

Particulars i : ' o ®
‘Equity Share Capital (?'10 each) R 15,00,000
11% Preference S.hare Capilal -(? 100 each) | ' , | 12,00,000
Retained Eamings - _ . . B , E0,00,00Q
15% Debentures (2 100 .ea-lch) - | o 13,00,000 -
~60,00,000

P.T.O.
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The expected dmdend on equity share is ¥ 3.60. The d1v1dend is expected ‘to grow at
7% per annum. The market price of’the share is ¥ 30. Preference shares are currently sellmg
at ¥ 75 per share and are redeemable at par after 10 years A Debenture is selling at
? 80. Debentures are redeemable after 8 years. The income tax rate is 40%. Calculate the

WACC usmg book value weights. ‘ : ' _ 15
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A company belongs to capitalization rate of 10%. it chently has outst@ding 25,000
shares selling. at T 100 each.-The firm is 'coh'tempiating the declaration of dividend

of ¥ 5 per share at_"the end of the current financial year. The company expects to

have a net income of ¥ 2.5 lakhs and has a proposal for making new investment of

- ¥ 5 lakhs. Show that under the MM assumptions, the payment of dividend does not

~ affect the value of the firm. S _ i | ) 9
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Write short note on ‘any one of the following :
(/) Liberal credit policy

(#)  Factors affecting capital structure.
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From the following information, prepare an estimate of working capital

' requirement :

| (i) Projected annual sale

‘ (z'i). Selling price per unit

(i) Raw material cost .

(iv) Direcf Labour 'Coét ’

vy Overhéad cost

(vi) Raw material stock

9
52,000 units

- ¥ 50

- 40% of selling price

30% of selling price
20% of selling price

Average 3 weeks
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(vif) Wor‘k-ir_l-pro.gress stock . | Average 4 weeks |
" (viii) Finished goo-.ds‘sitock A ' 'Averagé one month
(fx) Credit allowédAto Debtor.s- | N | S | 6 weeks
(x) Lag in payment of wages gnd o_vefheads _ - o 2 weeks
{xi) Credi't allowed by supplier‘s | | | | ' ' - 8 | weeks

(xii) 50% of the sales are on cash basis .
 (xiif) Cash required ¥ 50,000-
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E)ép]ain any one ,of the following

() Motives of hélding cash.

(i) EOQ Model of Inventory Management.
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Determine the market value of equity shares of the company from the following information

as per Walter’s model :

Eal;nings of th'e cbrnpémy ' ' o e - 4 56,.06,(_)(')0 '
Di\;?;ienq pa‘id : | | | . - % 3,00,900
Nufn‘ber of shére; qutstaﬁding . _ : - | _ 1'?00,000 :
_ Pri#e_eamings rafio“ | | | ' o s - 10
~ Rate of re.tum on investment ‘ - o 15%

R

Are you—sat-isﬁe,d-with' the current dividend policy of the firm ? If not, what should be -

the optimal dividend payout ratio ? ' e L . 9
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- Note : | Answers may’be' written either in English or in Hindi; but the same mediufn should be
used throughout the paper.
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Vivek is about to retire. His company has given him the option of retiring with a lump

.s.um of ¥ 10,00,000 or with an annual pehsidn of ¥ 1,00,000 per annum of the next

20 years. If the interest rate is 12%, which option should he se]ected ? 6
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Explain the scope of financial management in present day world. . _ 9

A F fovd vy B fawa-dm w0 ol #ifm

(r9ram)

If a firm’s earnings increase from % 3.00 per share to ¥ 4.02 per share over a period

_ of 6 years, what is the rate of growth of earnings ? . . 6

?Tﬁ(tﬁtf?wv"lﬁ\_rh?3.00%%@-?4.02%%&7@63&13?%@‘
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Explain business risk and financial risk and how are they measured ? 9

R ?
Differentiate between NPV and IRR methods of Capital Budgeting. o 6
ddiewt sofen & NPV 3R IRR UgRmEl § S &ifST |

A company requires an initi‘al'ipvestment of T 80,000. The earnings after tax for different

years are as follows :

Year .' EAT- (m ?)
. o 9,000
2 N 12,000
3 15,00'0‘
4 | | 18,000
s 2‘0‘,'000

P.T.O.
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-.The ic'ompanyj_s minimum required rate of return is 15%.
’ Fil_ld out :
()  Payback period
: 1(1-,) Net present vél"ue. : | ' | o | ' g

wmﬁﬁmﬁwﬁ%mooooaﬁm% lﬁﬁqﬁfaﬁ%m
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2 | R '.':12,060
KNS __ - 15,000
4 | 18,000
- 5"_ | o 20000
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| ‘(?MET)
A company is considering a 1’16.:W project for which the i.nvestment data is as follows :
(a) - Capital cost ¥ 2,00,000
(b -Depreciat-ibn ._‘ S.LM.

The expected earnings before depreciation and tax are as below :

' Year : Earnin_gs )
1 '_ '1,00;000
2 | ~1,00,000
3 80,000
4 o 86,000
5 - o 40,000,

- Tax rate is 40%.
Calculate :
(a¢) Accounting Rate of Return

(b) Internal Rate of Return. ‘ | ‘ ‘ 15
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| 4. 80,000
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(=) aﬂ?rﬁﬁ wfahel & |
: (@ | Explain and illustrate the éffect of the following :
| (i‘)‘ Calculate cdstl of débt

(i) Floatation cost on cost-of issue of fresh equity share capital. 6
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A company is exp_ectiﬁg EBIT of ¥ 4,00,000 and belongs to risk class of 10%.
"You are required to ﬁru;l out 'ther'value of the firm and the cost of equity capital
if the firm employs 6% debt to the extent of 20%, 40% or 60% of the total
fund re_quircl:r.nent-of '? 20,00,000. Use NOI Approach. Does the ,valué of the ﬁrm
_change wi;[h thg change 1n deBt in‘ the-‘ capital structure. Show the functioning of

NOI approach.' . o - _ 9
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(@) The following data is available for XYZ Ld.

Sales
| Less : Variable Cost 40%
+ Contribution -
Less : | Fixed Cost
EBIT
Le_ss : Intereét
EBT

Find out ;

460

®)

2,00,000

80,000

1,20,000

80,000

40,000

10,000

30,000 p

() By what percentage will the taxable income increase, if EBIT increases by 6% 7.

(ff) By what percentage will EBIT decrease, if sales decrease by 10% ?

(ii) By what percentage will the taxable income increase, if sales increase by 15% ? 6
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